4-2 Unit expanding, or
self-drilling anchors for
M16 (34) bolts with
standard washers.

N

Wood block treated

3.05 m
10'-0") /

38+x152x330 (1'/,+x6x13)
/38 (') dim. at cts.

241
(9'/5)
16, 89,16
(3)][(3/2)][(3)
32 | o /2 32
A'/a) W'/

j

I 133
| T/ r | X f X 22x64 Slotted hole —’ | ‘(5|/4)
- L 7 ol
| —1 ZWood block treated \/ 7 >ee plans Gex2/2) l L o
20 89 ex152%330 (3 x6x13) 4 Epoxy grouted M22 (") anchor /. 0l wls
M24x102 (1x4) Machine 89_(3'/) dim. ot zc_fs bolts with standard washers. % % : | — | AN | -
bolt with plate 2 = : | |£ LT BN Sla
washer D and locknut. = 2 PQ_l_ Ir -
M|~
PLAN L Sl
L |
TRAFFIC BARRIER TERMINAL TYPE 11
| 95
| 22x64 (Vgx2'/») :
TEMPORARY CONCRETE BARRIER — M16 (%) Button head bolt with Slotted hole for (372
hex nut and washer recessed M16 (54) bolts
in wood block.
Temporary /\7 BRACKET U
bridge rail - P
g _\ | ;Brockef u [ Plate E Splice plgte — \ Standard (6 (/) Thick steel plate
N Ry Ploto = | ) — end shoe or rectangular tubing
IR ! || | \klr | / 1Y L I >° o L— with flange welded on.)
_ °l——-'l'—|+—|—'|———.1l—— - — = — - —5% - — — 4 — —
|”|d==]||T|'|1’| T |I | TR >° o
" M 11 | ol |
| L | 2|8
o~
' * Splice bolts ke L
:: d /J P | Splice bolts —M
il u pd AR £ ) [ VAR
NERAL NOT
* Post bolt with pIm‘M (3?75'/3) . GENERAL NOTES
washer F placed 2
under head and nut. [BEE! 1.905 m BEER For details of guardrail not shown,
(6'/4) (6'-3"") (6'/4) see Standard 63000l.

ELEVATION 29 Dia. hole Install the face of the guardrail flush
with the face of the temporary bridge
ragil. Install plate washer D so that the

32x57 Slotted holes RS 25 mm (I’) projection fills the remainder
(1'/4x2"/2) _—Tack weld of the slotted holes in the 25 mm (1')
229 | 432 127 178 159 432 e lll ) end plate on plate G after the M24 (1)
(9 (17) ™(5) —(7) ©'/a) | (n | (6%4) Class A rail o diameter bolts are in place.
6 e 108,]. 108 . 114 108 | 108 element @S
(/a1 RKIAIRIAL (4% § 1(4/4) | (4"a) | pd * Bolts shall be provided with a lock nut
I | | I K or double nut and shall be tightened only
J /OgmA | | to @ point that will allow plate G to be
| ==_ = ¢— EF_ VT o™ F 7 S(— | free to move.
4 ol "™ 25 7A 22 Dia. steel rod
) L = y 46*9* m | /s (%) * % After tightening, cut the anchor bolts
— flush with nuts, and damage the bolt
: 25 Steel plate . L20x64 Slotted holes .
Clgss B radil Class B rdil head to prevent them from loosening.
element 0 element I Fax2)/2) PLATE WASHER D 3 °
22x100 Slotted holes 23x29 Slotted holes . . . -
Towa E i Sinepeions ers i miimerere
] i u wi wn.
PLATE G PLATE E DATE REVISIONS
@ Ilinols Department of Transportation :al:;::rﬁ:nfe;nwdeepqo:geE)r_o” 1-1-02 Revised M22 (7/8) Bolts. T RAFF IC BARR I ER
PASSED JO"gYL» 2002 TERMINAL TYPE ].].
m@%—w‘ﬂémmm 1-1-97  |Renum. Standard 2388-2.

APPROVED Jonuory 1, 2002

L6-1-1 @3NSSI

ENGINEER OF DESIGN_AND_ENVIRONMENT

Deleted DN Symbol.

STANDARD 631051-01




